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1. 1. not. written. yet

2. Here is an incomplete number line.

0 1 2
| | |
I T T T T I T T T T 1
0 1 2 - - B B - 8 9 10
5 5 ) > 5 ) d 5 5 ) D
(i) Complete the missing labels
4 1
ii) Work out - + —
(ii) Work ou : + :
2 4
3. Work out - + —
(a) Work ou 3 + 5
6 1
b) Work out = - =
(b) Work ou =%
5 1
4. Use this number line to complete — - — = — - — = —
12 3 12 12 12
0 1 2 3
3 3 3 3
| | | |
I I I I 1 I I I 1 I I I 1
0 1 2 3 4 5 7 8 9 10 11 12
12 12 12 12 12 12 12 12 12 12 12 12 12
1 2
D. Work out - + —
(a) Work ou 5 + 5

(b) Work out % - g

11 3
: hi I 1 28 o1 o
6. Use this number line to complete 12 8 24 24 24
3 6

24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24
| | | |

I I
| |
0 1 2
12 12 12 12 12 12 12 12 12 12 12 12 12

Q@O To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited



sample questions fraction 4+ / - has 13 layers timelypractice.com

)
— + - =— 4 — = — = — (in simplest form)

1
7. Use this number line to complete B 1 12 12 12

0 1 2 3 4
4 4 4 4 4
| | | | ]
| T T 1 T T 1 T T 1 T T |
2 6 4 3 12 2 12 3 4 6 12 1o° H SHHPIESt IO
| | | | | | | | | | | | |
I | | | | | | | | | | | 1
0 1 2 3 4 ) 6 7 8 9 10 11 12
12 12 12 12 12 12 12 12 12 12 12 12 12
1 1
8. Work out = + =
ork ou 5 + 6
Give your answer in its simplest form.
9. (a) Work out L + =
. (a) Work out - + -
3 4
5 2
b) Work out = - —
(b) Work ou =%
5 3
10. Work out = - =
(a) Work ou e
Give your answer in its simplest form.
3 7
b) Work out — + —
(b) Work ou 50 + 20
Give your answer in its simplest form.
7 2
11. Work out  3— —1—
(a) Work ou TR
1 1
(b) Work out 22— +2—-
2 3
12. 12. not. written yet

1 1
13. Work out 2- —1-
(a) Work ou 5 3

7 4
b kout 1— +2-—
(b) Work ou 50 + 3
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